
When considering sales and operations planning for? services, "a strategy
for reducing and smoothing out workforce requirements by having the
customers perform part of the work themselves? (such as IKEA having
customers assemble their own? furniture)" is known as
Answer:

Offloading

Explanation:

This is a type of service consideration decision that facilitates making capacity match sales of product.

Why is it important to classify the millions of species on Earth? to have common names that everyone can remember
to more easily sequence their genetic material
to create scientific names that only scientists can learn
to organize them and speak about them accurately
How many liters are in a .00813M solution that contains 1.55 g of KBr?
Which of these is not a difference between plant and animal cells? plant cells have a rigid cell wall outside the plasma membrane. plant cells lack vacuoles.
animal cells have no chloroplasts. animal cells have only a plasma membrane surrounding the cell?
Poetry is writing without rhyme or meter
Which of the following is not a structure on a prokaryote? A. cell wall
B. defined nucleus
C. flagellum
D. pili
Richard and Teo have a combined age of 43. Richard is 10 years older than twice? Teo's age. How old are Richard and? Teo?
Find the greatest common factor of 7,15, 21
A speech given by an actor to an audience, such as the Stage Manager's speech in the first act of Our Town, is called _____. a monologue
a scrim
the universal



the resolution
Solve x^2 = –169 this is a question on square and cubed roots
Mexico's government is considered to be a constitutional republic, while Cuba's government is considered to be
An amusement park is installing a new roller coaster. the park intends to charge $5 per adult and $3 per child for each ride. It hopes to earn back more than the
$475,000 cost of construction in four years. with the best of weather, the park can provide 120,000 adult rides and 30,000 child rides in one season. Let X be the
number of adult rides in 4 years and Y the number of child rides in 4 years. What system of inequalities best represents this situation?
Does a human body use neon???
What is the area of a regular hexagon with 8 cm?
The following are all the steps in the accounting cycle. List them in the order in which they should be done. - Closing entries are journalized and posted to the
ledger. - An unadjusted trial balance is prepared. - An optional end-of-period spreadsheet (work sheet) is prepared. - A post-closing trial balance is prepared. -
Adjusting entries are journalized and posted to the ledger. - Transactions are analyzed and recorded in the journal. - Adjustment data are assembled and
analyzed. - Financial statements are prepared. - An adjusted trial balance is prepared. - Transactions are posted to the ledger.
Using the distributive property to find the value or each variable what is 5(9+13)=5m+5(13)
What is the area of a sheet of binder paper? (Binder paper is 8 inches by 11 inches.)
Who did missionaries try to convert to Christianity? black Americans

Native Americans

Irish immigrants

the French
In three to four sentences, describe how legal contracts provide incentives for people to exchange goods and services

1. Home
2. More Solution
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